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Ex: Find v(?) if V(s)=2+ s;—s+4 .
s(s“+4)

SOL'N:

We know £ '32% = 25(+), %o we focus

on 4he wverse Aransform of s + 35+ & .
. 5(3*+4)
3 +354+% = A + Bs+(C(@
(st 1) 5 (52+229
{\Uo
Note: 4he second term i3 written as +the
form  for a dosine plus stne  (in £~ omain)-
=
B s + C w f—;. B ¢os wt +Csunwt
s*tw’ sw”

usanj the Fo[e Cover-up method, we find A-

A= S<M>
FH(STHw)

Sula-‘:mc{lhj the L +term leaves Bg+C(2):
) T
-~ N , S+ 2
34344 -1 = S48+ -(B4y) = 31
s(s™+4) 9 s(s &) s(s4u) HG+4)

= |

3=0




1
Soe we have \ = 5(2) y 90
Ty i+
A T % = 1 osin(24) ulv)
A .
g %"2 = u(t)
3

Thus
) vlE) = 25(4) + {1 + _1_2_‘ sln(lzi)}u(‘t)



